
Order of Math Operations with Numbers -100 to 100 (E-5)
EXPRESSIONS WITH PARENTHESES

Name:

Time: Score: /

185)

45÷ 5× (42 + (−42))÷ 4÷ 6 =

186)

80− 39− 13− 53− (39− 72) =

187)

(27 + (−55)) + (0× (−6))÷ (−6)− 10 =

188)

3× (−10)− (1× 7× 6− 3) =

189)

(6× 0÷ 1)÷ (−1)÷ (17 + 55) =

190)

54÷ (−9)− (−20)− (10× 0)− 78 =

191)

(0 + (−26))− 6− (20÷ (−5)) + 19 =

192)

(90÷ 10) + (−17) + (4÷ (−2)× (−4)) =

Mathematics: Order of Operations - Level 5 - Expressions - Set 5 25 © workulum.com

https://www.workulum.com

